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1.

T e W d XYZA #1234 3R EFGH #1|1, In a certain code language XYZA is written as

78910 & ¥ & foran e B, A weh g i 1234 and EFGH as 78910. How is AXGE written
AXGE %1 %4 fore m ? in that code language ?

(1) 4217 (1) 4217 .

@ 1oy (2) 4197 @lNDlRESULTE

(3) 4179 (3) 4179 / nnnnnnnnnnnnnnnnnn

4) 4917 4) 4917

(5) IW € 1 IR

(6) Not attempted

2. fodft w ¥ W #§ DFGHJ : FHIJL % %7 #|2. In a certain code language DFGHJ is written as

feran s R 1 St 2w # AUDIT 9 R THR FHIJL. How is AUDIT written in that code
fora S ? language ?
(1) CWPJV (1) CWPJV
(2) CWEJV (2) CWEJV
(3) CWFKV (3) CWFKV
(4) CWFIU (4) CWFIU
(5) I A T g (56) Not attempted
3. 9 feuw wu v ¥ vl @ TN F I 7 gy | S Fil‘.ld out the word whic'h cannot be formed by
I = F 7 Hifyra - using the letters of the given word :
VERIFIED VERIFIED
(1) FRIEND | (1) FRIEND
(2) ‘DEFER- (2) DEFER
(3) DRIVE - (3) DRIVE
(4) FRIED (4) FRIED
(5) I T8 T =T . (6)  Not attempted

\ ‘ ¢ 5 ms |%  Three friends Amita, Babita and Chanchal went
4. d7 wefeal afya, sdfa it g= Th El d T | to a restaurant. When the bill was received,
& fa= faen @ afgar 3 & g & W oy @

. vz 3
Amita paid £ a5 much as Babita paid and
%&maﬁzﬂmimméﬂiﬂﬁwéia“" 2

. 1 .
o = 360 & fret 1 faran T &, @ e 3 Babita paid 3 as much as Chanchal paid. If the
faa nfer %1 spram fap 2 2 O bill paid is ¥ 360, then what is the amount paid
1) e . by Babita ? '
| INDIRESULTE (1) =60
(2) 7180 (Z¢)INDIRESULTE
(2) %180

(3) 7100

o0 3) %100
(4) ?2#’. . (4) =200

z
(5) 3IW (6) Not attempted
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5. %9 YW & o 1 Mg 29 ‘ 5. What is the value of ‘@’ in this pattern ?
XaL=2 XaL=2 .
PoaH-= ,

Pat-2 | “H=2 (B INDIRESULTE
LaF=2 btk

®» - | -

@ + (2) +

3 =+ | S
) 4) x

4) x

. (5) Not attempted
(5) I T T =g P

5 i 6. Three statements are followed by three
£ . S T S . e TTQ & N . conclusions. Take the statements to be true even
aet @ i B9 ge oft Fert A T e g0 R i{ o if they seem to be at variance from the commonly
i % aifbs w0 @ /A freed g T Hel known facts. Decide which of the given

¥ Frerctar/feen & conclusions logically follow(s) from the given
e - F WE 5 statements.
s WE ¥ | Statements : i(l)lme apples ax: grapes.
Lo grapes are bananas.
%9 Wl?@'@ﬁ NS gl ' Some plums are grapes.
fred: @ 9 ol w 2 Conclusions : (I) Some bananas are plums.
(ID F3 8 % ¢ | ' (II)  Some apples are bananas.
) wf AR | - (1)  All bananas are grapes.
() Fad IR MIfwead s (1) Only I and III follow
(2) Fad 13K 1T Feera & (2) Only I and II follow
(3) waa II freeran 3 (3) Only II follows
(4) e 111 freeran 2 (4) Only III follows
(5) IR BT A1 =R o (56) Not attempted.

7. P,QR,S, T fyshfaes W MU | ‘P’ ‘Q A %, ﬁ@ ‘QUl7. P,QR,S, Twentona picnic. ‘P’ is the son of ‘Q’

PHRUMAHAR IR SCHFLS Pw s 3 | But ‘Q’ is not the father of ‘P, ‘R’ is the son of ‘S’
TS H gt B | “who is the brother of ‘P’. “T" is the wife of ‘S’ ’
P R @ I dEy 2 2 ‘ How is ‘P’ related to ‘R’ ?
(1) fum . (1) Father
- ) Nephew
@) (:7(9 INDIRESULTE @ Nep
(3) mg W VS voun s VecEss PARTMER (3) Brothel‘
(4) == ~ (4) Uncle
(5) IR T &N AEd (5) Not attempted
\
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8. AB,CD,ES3NR @W“ﬁgg%%aﬁ 8. A’B’C’D’Eal?dFareSI- g-t right of ‘B’
; 3 fioey a0l o 41 §|  the centre. D is on the immediate TIgE5 0T
Fonat . A 3R D and ‘B’ is not the immediate neighbour of ‘F.C
3R B, 1 P @ T .% e P is between ‘A’ and D’. Who are the neighbours of
TN PHFRERITR? F?
(1) C3RD (1) CandD .
(2) B3MWD 2 BandD 2
7)INDIRESULTE
(3) ARE 3) AandE @
4 ARB (4) AandB
(5) I TE &N =R (5) Not attempted
. ) . ' .
9. ¥ Ru m fawedi & & gw & & w3 Hif 9. Choose the missing number from the given
a8 wen "{@ﬁl kW G options that will complete the number series :
55, 56, 58, 61, 65, __ 55, 56, 58, 61, 65, __
(1 72 1 72
(2) 70 2 170
3). 69 3) 69
@ 7 @ 7 |
(5) IW & ¢ 9TEd (5) Not attempted
10. &9 ’T@HT 4 p 1AM A HIT ; 10. Find the value of p in the series :
11 1 1 11 1 1
la e ~ oV Ty T .o — _ —
379" 81" 243 L 29 51’ 243
1 1
(1) — =
39 - 39
1 1
(2 —
) o7 @ -
I 1
(3 =
) 21 (3) 71
1
4) — 1
' 29 @ o5
(5) Ja 4E oA =MEd (5) Not attempted
1L mmmmmrmﬁmamaam@u All the hard work dons b |
i, 3 firg oft 2, 3 3 R | I s b ; work done by you at your workp-ace
5 = 7 Jacked by one of your colleagues, who is a
1 ? o - good friend of yours. You will :
(1) #H W!f #1 =g g H ! (1) start praising about your work yourself.
(9) Hah B E | (2)  leave the job.
(3) A= wEAv % T 3w A H | (3) criticise him in front of other colleagues. -
(4) dftgm m‘_’"ﬁi @h, wife qftam &1 afomm (4)  continue hard work as hard work always
q2d A AR | g pays
) ) 4 Y8
5 swliman  (GYNDIRESUTE] ) Notsompred
\
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12. Fefoafes @ & firm gz .0 2 0

(1) 3@ "9m

(2) =& € wrd
(3) W wETETn
(4) o= Emm

(5) I I 2 wmeA

13. TR Wow w9 % ww S ek san e B
=wafem f50 9 R vs ads wrez @A T S
I L B O E M
1 2 3 4 5 6
1) 6,433,251
(2) 3,4,5,6,2.1
3 6,4,3,1,2.5
‘4) 3.4,6,2, 1.5
5 I I 2 =

14 ﬁaﬁﬁmﬂmﬁhnﬁﬁfzq‘gq%m
n

11:120::25:?

624
2) 250
125
4 224

I IH ZA QwA

(]

15. mwhmmwﬁhvfmimzmma
wetas @ % f& fra yezgm d fou o §
e TREzE .

v @ % ()INDIRESULTE
2) 9w e
(3, @mag A

4) wevaw  Taa warq

(5) I a# za) QA

MARA/DZ2/Page §

12,

13.

14.

15.

Find the odd one out. @!NR‘M..SMIH
(1) Arabian Sea

(2)  Bay of Bengal

(3)  Pacific Ocean

(4)  Indian Ocean

(5)  Not attempted

Select the combination of numbers so that the

letters arranged accordingly will form a
meaningful word :

I L B O E M

1 2 3 4 5 &6

(1) 6,4,3,2,5,1
(2) 3,4,5,6,2,1
(3) 6,4,3,1,2,5
(4) 3,4,6,2,1,5
(5)  Not attempted

Choose the correct option, which is related as
given :

11:120::25:?
(1) 624
(2) 250
3) 125
(4) 224
(5) Not attempted

Choose the correct option in which the words are

related in the same way as in the given pair of
words :

Singer : Chorus
(1) Robbers - Loot
(2)  Flowers - Bouquet
(3)  Musicians - Song
(4) Artust

Paint

(6) Not attempted

"% W4 o vy apack FOR ROUGHWORK
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16. fu mu awEi % e ey # RS 18, ° 15
IUH AT ;@ ? Bifw | (
. ' p sarat  (#)INDIRESULTE
SdifemaawE | (1) A3 EM e ) VPR YRS
v EFI (2) @ | 38 7T NG B AALF | @1 A FhdT |
@ fre o d om Ees R E? 3) W wa I & B 9g gfgmm off } o P
ot |
TR
® WETAPRE (4) JE warn %, 3 ger-gar W oE @ |
4) frafigadiwhw@ (5). I TE A AR
(5) I El & =R
oo, . i & & B g ‘o o & P 2 2
1) =
17. Somm . 0 99 % o wWR F e 2 wh
‘Faet H waitteh I e weg g | 3) <R
(1) Fag | @ e
_(5) Il T AR
(2) uudw
3) yutaa® 21. foum form wreg & Swwrt 1 s gaM R 2
(1) SR
(4) ¥IFaq
. (2) =R
(5) I A T AR -
@) =
(5) W & T =R
18. frafofiga & @ #1741 afy &1 v yr 787 & 2 . ,
. 22. B gt v, orafy e
(1) mﬁuﬁz ﬁnﬁq—b‘mﬁ,\ﬁqﬂ@m%?’
(2) #rd dfa ST AT R STeT B I 2 2
; ) INDIRESULTE L
(3) 2w &y O ,,,,,,,,,,,,,,,,,, @ W
(4) wafg wfy @) wus
(5) I A 7 wmEA @ e
(5) mma:nm
\
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23.
(D
(2)
3)
(4)
(5)

wda % @ )

it & i W @

q&%mﬁ%w.m
o o v % 9} fraer
I TE N A

4. THRNIRY wygg w= w1 @ v |

(D
(2)
3)
(4)
(8)

M=
st

Teugfass

fafmm
ST FE A 9w

25. oW % fo uge vt w76 & -

(1)

sty

(2) uE=s

(3)
(4)

(5)

26. mezmﬁmﬁm-wﬁm,|

3
st

ST 7€ 1 9rEa

us on Telegram - "_I'nc{jResu]t.m "
WW%WW@WW : 27. Fafafes vl @ #an weg frar @ donds 9

gt & 2

W wewe  (@INDIRESULTE
(2) fawamn

(3) farzemn

(4) wHern

(6) I T 2 =TEA

28, feifeem # 3 farg e @ gE 77 2 2

(1) =gft 7n & Fy 9 = qEvE FE F Tva
HET o

2 WeImAFNAR T =R g A o
& fafen #1 wor firer wpar 2

(3) 3N A @ AR = I-ggr oy F gz
(4) e AR F9 s = e
(6) I A & ==

29, é@ﬁm%vwﬁmmmﬁﬁsﬁﬁmm
HHEY TT qrn S @ 2
(1D T
(2) wAN
(3)  wftomeiys
4)  fadwa=s
(5) W 7 T W=y

(Wmmﬁmm;‘m_mm%? 80. frafefed A B fe

1 s gegey TR WWWW

2w aegm | (1) W

@ wmmmgm (BINDIRESULTE | @ W

@ s aegey @)

®) 3w T 21 =mma (4) W
M (B) I T ¥\ W

L]
% ﬁ"{ TR | SPACE FOR ROUGH WON
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81.  Choose the alternative which best expresses the |84. Choose the alternative which best expresses the
given sentence in Active Voice. meaning of the underlined idiom.
It is being read by us. He had a hair-breadth escape from the accident,
(1) We have to read it. (1) impractical
N 2) very safe .
(2) We are reading it. ( .
o : (3) narrow Q’(gmnmssung
It will b ‘ T YRR R
will be read by us (4) fighting
(4) We can read it. (5) Not attempted
(8) Not attempted
~ 85. Find out the correctly spelt word.
(1) pretantiosness
32. Read the sentence to find out whether there is .
: . . s (2) pretantiousness
any grammatical mistake in it. :
(3) pretentiousness
Mark the number of the part with error as your (4) prettentiousness
answer. If there is ‘no error’ mark (4). (5) Not attempted
The scientist was seemed to be excited
A B 36. Find out the correctly spelt word.
over the result of his experiment. (1) thesoraus
C (2) thasaurus
1) C (3) thisaurus
2 A (4) thesaurus
3 B (6) Not attempted
(4) No error
(5) Not attempted 37.  Select the word that is most similar in meaning
to the given word. ’
33. Rearrange the following parts of a sentence Prosaic
labelled as PQRS to make a meaningful (1)  Patriotic
sentence. (2)  Uninspiring
P. . leave no regret are (3)  Poetic
Q. gained over ignorance @) Cunning
5
R. the only victories which (®)  Not attempted
S. those which are 88.  Life history of a man written by himself is called
(1) QRSP _— .
(2) SRQP (J, | (" Bibliography
(#)NDIRESULTE @ Biogragt,
graphy
(3) RPSQ 3)  Augans
utobiography
(4) PQSR (4) Calligraphy
(5) Not attempted (5) _Not attempted
MARA/D2/Page 8 1% T 3 o T | SPACE FOR ROUGH worpk
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Read the following passage carefully and answer |42,

questions 39, 40 and 41.

Tiger is one of the key wildlife species in the faunal
web. In 1973, the authorities realised that the tiger
population had dwindled very fast. The major threats
to tiger population are numerous such as poaching for
trade, shrinking habitat, depletion of prey base species,
etc. The trade of tiger skins and the use of their bones
in traditional medicines left the tiger population on the
verge of extinction. Since India and Nepal provide
habitat to about two-thirds of the surviving tiger

population in the world, these two nations became 43

prime targets for poaching and illegal trading. “Project
Tiger”, one of the well-publicised wildlife campaigns in
the world, was launched in 1973. In India, Tiger
conservation has been viewed not only as an effort to
save the endangered species but also as a means of

preserving biotype of sizeable magnitude.

89. The skin and bones of tiger are also used

(1) in preparation of food products

(2) asraw material in small factories 44,

(3) in traditional medicines
(4) to save tiger from extinction
(5) Not attempted

40. The major threat to tiger populations is
(1) Industrialization
(2) Lack of Tiger Reserves
(3) No Government policy
(4) Poaching for trade

(5) Not attempted 45

41. Find out a word from the above passage which is
the antonym of ‘legal’.

(1) threat /'-
@ esinion  (Z)INDIRESULTE
(3) faunal

(4) illegal
(5) Not attempted

Which of the phrases given below should replace
the phrase underlined in the following sentence
to make it grammatically correct ?

“She showed courage in advocating policies which
were not common acceptability then.”

(1) commonly acceptable then .

(2) commonly accepted then N

oo comen acepaniity ) NPIRESULTE
(4) common in acceptability than

(5) Not attempted

Choose the most appropriate prei)osition to fill in
the blank.

Visitors in the garden are prohibited
walking on the grass.

(1) to
(2) from
(3) with
(4) for

(5) Not attempted

Fill in the blank with the most appropriate
option given below.
He was advised the seminar without
preparation.

(1) to not to attend

(2) not to attend

(3) tonot attend

(4) not to attended

(5) Not attempted

Which one is the correct indirect narration of the
following sentence ?

He said, ‘Two and three is five.’

(1) He said that two and three were five.

(2) He said that two and three are five.

(3) He said that two and three is five.

(4) He said that two and three was five.

(5) Not attempted

MARA/D2/Page 9
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47.

8. 50 5 & gfamn % wew gr % ™ @ 9

49.

Telegram - "IndiResult.in”
T T Ty Bk

(1) W

(2) wEef

(3) e foro

@ ™

(5) IW & 21 =R

TRamn § e Ao sET SR ooy 6
TG 9 §¥ 2

(1) 1965

2 1979

(3 1970

(4) 1960

(5) I T 1 9=

2?
(1)
(2)
(3)
4)
(5)

UTEH 1 fohett
e 1 fobet
TRIGUTG 1 fehert
FA1g 1 fopent
I TET 1 =g

BEmn % e 300 i e fod @ |
(1) yuaeg &

(2) %% @

(3) = @

(4) Wafag T

(5) 3w 74 27 =

o & fosa fire f ‘Gl gy et e 8 7

(1) wligEm
2) Ugaw
(3) Hiwa
(4) IGTAR
(5) IR TE & wEd

nnnnnnnnnnnnnnnnnn

46.

47.

48.

49,

50.

MARA/D2/Page 10
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Which is the state animal of Haryana ?

Horse
Elephant .

(1
(2
3
4)
6) .

Tiger
Not attempted

When was the State Council of Educationg
Research and Training established in Haryanga 7
1965

1979

1970

1960

Not attempted

(1
(2)
3
(4)
(5)

Which fort is known as the Gateway of Haryana ?
(1)  Maham Fort

(2)  Gohana Fort

(3)  Bahadurgarh Fort

(4)  Kanod Fort

(5) Not attempted

Haryana is located around 300 miles North of the
_ . |

(1) Equator

(2)
(3)
(4)
(6)

Tropic of Cancer
Tropic of Capricorn
Gr eenwich line

Not attempted

Saraswati Sugar Mill' is situated in which

- district of Haryang ?

(1)
(2)
(8)
(4)

Faridahaq
Rohta
P anipat

Yamunanagar




51.

Follow us on Telegram - "IndiResult.in
52,

52.

54.

55.

—

MARA/D2/Page 11

1913 # 9N IH AWEE H TEd eI A
&9 I Fige vge Wiy w9 2

1) e fig

(2) WIREIW

(3) si. uwy fiw

(4) e g

(5) I & 1 =R

BT T & ve for s w6 e e gen ?
(1) 15 3F, 1994

(2) 23, 1994

(3) 317, 1994

(4) 2674, 1994

(5) I E & =R

W%, T B goad 99 Ry ¥ fhe R firwr
foram mn, 99 3 Uore Vg &1 0y w99 W1 @
g9
(1)
(2)

10 313, 1918
10 3134, 1915
(3) 10314, 1917
(4) 103134, 1919
(5) I AF g1 =R

g & 9 geig &1 YA W = R 2
(1) FIIgH

(2) Hiucrs

(3) wEEF

(4) FHE

(5) I A4 g =TEd

ferafers 1 werfeal efamn & fra R 4 787 o
st & 2

(1) famn .,

@ FnoiResuLTe
(3) ETe

4) IR

(5) I &l 1 9T

61.

n”

53.

54.

55.

- (3)

Who was the first Indian to be appointed as the
first Chief dJustice of the Punjab High Court in
1913 ?

(1) Alok Singh i

(2)  Sir Chhotu Ram J‘

(3) Dr. Sarup Singh @ INDIRESULTE
(4)  Gopal Singh

(5) Not attempted

When was the first Haryana State Finance
Commission formed ?

(1) 15%h October, 1994

(2) 27 June, 1994

(3) 315t May, 1994

(4) 26 April, 1994

(5) Not attempted

M.K. Gandhi was arrested on which date from

Palwal railway station while going to Punjab to
protest against the Rowlatt Act ?

(1) 10*® April, 1918
(2) 10 April, 1915
(3) 10* April, 1917
(4) 10 April, 1919
(5) Not attempted

What is the ancient name
Mahendragarh in Haryana ?
(1)

(2)

of district

Satyevpuram
Kapisthal
Sairishaka
Kanoud

Not attempted

(4)
(5)

The Shivalik Hills are not found in which district
of Haryana ?

(1)
(2)
(3)
(4)
(5)

Sirsa
Panchkula
Ambala
Yamunanagar
Not attempted

\
& % % foTe orr | SPACE FOR ROUGH WORK
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Prithviraj Chauhan in which century ?
i?ﬁ.;?;h m e = (1) 17th century
(2) 124 g& (2) 12th century
) 159 (3) 15 century .
@ 14t g | (4) 14 century @ INDIRESULTE
' mpted
Follow L(I?S)’ 013;R T:T’g]agg??m - "IndiResult.in (6) Not attemp B
57. R d dm v« g ¥ =R W Ay ST R 57. The credit for propagating the Home Rule
(1) IR fife : Movement in Haryana goes to :
(2) < qEefer (1). Thakur Ram Singh
(3) 4. 3w i (2) Lala Murlidhar
(4) W frex (3) Pt. Nekiram Sharma
(5) I & & 9= , . (4) Ram Kishore

(5) Not attempted
58. ﬁmﬁﬁaﬁﬁﬁésﬁmnwmmww%?

58. Which of the following is known as the Taj Mahal
(D) wifen g8 #1 gy of Haryana ?
(2) fts e (1) Ibrahim Suri’s Tompb
(3) 9 g8« (2) Sheesh Maha]
4) @ fagt =1 gam (3) Jal Mahal
(5) I 78 21 wmga

(4)  Sheikh Chilli’s Tomp,
_ (8)  Not attempteq
59. ﬁqﬁ-tﬁaaﬁaﬁmmqammﬁwmwhm cpe

727 fo 3 2 59. Which among the following foi dance forms jg
(1) et . ot performed by men ?

@ @ (1) Chaupaiyan

3 T (2)  Loor

@ o (3) Daph

) T 4)  Dampry

(5) Not attempted
60, ﬁfamﬁwwm%ﬁt{f\aﬁaﬁﬁm

ha iig’m 2 60. py Lékhmi Chand wag born in which of the
) ad followmg village of Haryang ?
) 3 . (1) Sih
. (@ oresuLTs D Mokhrg
(3) b @) Nahp
(4) SAdien ‘ 4) Jantikq)ap,
(5) 3w TE &M =mEd

6) Not attempteq
MARA/D2/Page 12 % W4 ¥ forg waT | SPACE FOR Rougy WORK
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% g’é’% 31'@5%14 61. Which district in Haryana has the highest

61. @RI a1
1) Fua literacy rate ?
(2) Ugas (1) Kaithal
3) T (2) Rohtak .
@ e ® Gurogram () INDIRESULTE
(5) IR TE ¢ =Ed (4) Panchkula
(5) Not attempted
62. 31 femww, 2017 % 7 sfamn & yky & T BBY
FieT 1 faega w9 F R 2 62. What is the full form of BBY scheme launched on
(1) R st Qe December 31, 2017 in Haryana ?
(2) STTEwE s e (1) Bharatiya Bima Yojana
3) fareft s=rat e : (2) Bagwani Bima Yojana
(4) WIER WA QT (3) Bijali Bachao Yojana
(5) IR & T TE ‘ (4) Bhavantar Bharpayee Yojana
. . (5) . Not attempted
63. wham § fFw a¥ yorE @w faw (DBT) ASHT H
w 71 ? ‘ 63. In which year was the .Direct Benefit Transfer
(DBT) Scheme launched in Haryana ?
(1) 2015 1) 2015
(2) 2011 | 9" g5id
(3) 2013 | @) 2013
(4) 2014 @ 2014
OB ' (5) Not attempted

gfaron & sia =t foredl 1 @ad a 2020 - 217 64. What is the increased per capita consumption of
electricity in the year 2020 — 21 in Haryana ?

e Fral A TS 8 ?

(1) 1540-45 32 (1) 1540-45 units
(2) 1000 IfE (2) 1000 units

(3) 180545 (2 (3) 180545 units
(4) 1200-45 3 | (4) 1200-45 units
(5) I :ré’f 21 =ed : (5) Not attempted

gfgmon 159 91 ¥ fo<fa ad 2022 - 23 & %A 3¢ | g5, What is the percentage of total expenditure

w1 fapeen e gferd &4 i = % forg Fuifa foran allocated towards Police in Haryana State
Budget for the financial year 2022 — 23 ?

2 ? ,
1) 21% °, 1) 21%
@) 46% @!NP,'BE$H!:TE @ 46%
(3) 43% | @) 48%
4) 62% . 4) 62%
(5) 3w g &1 9TEd (5) Not attempted

I
MARA/D2/Page 13 T % % Ry o | sPACE FOR ROUGH WORK
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66.

BLd]
Follow us on

67.

69.

70.

T 8 T e ord frm d R o 8 2
1) amfss st

(2) wfes

3) ww

@) fam

W 118 ¢ efgagram - "IndiResult.i]

mmmmmmmm
TAR R |

1) o=

(2) WU

@) I

(4) 3 W
(5) I T e ==
1958 ¥ g UHew Al ¥ Tl vew A vy
FfaTe w11 § 92

(1) e g
(2) @A fig

(3) UgTEH IeTeg
(4) U= = g
(5) I AE & =R
ELCIE

(1) 7@

(2) wgarh

(3) Hifgafa

(4) WEEMEl

(5) I FE g =R

ﬁnfaf@aﬁﬁmm%%awﬁmaﬁﬁamqa
aﬁdﬁzﬁ%éaﬁzozzw‘waﬁ’mmqﬁm

™ 2
(1) Tgdg dat J'«

; %)INDIRESULTE
(2) gfia sifaa Qﬂ ccccc
(3) i e Wi
4) A9 ae wEE
(5) IR 7Ef &M TR

£

MARA/D2/Page 14

66.

67.

68.

69.

70.

T

Rani Lakshmi Bai Award in Haryana is awardeq
in which area ?

(1) Social Work

(2) Literature @ INDIRESULIE
(3) Sports SV Attt gt

(4) Science

(5) Not attempted

Shori Bazar in Rohtak is Haryana’s largest
market.

(1)
(2)
(3
4)
(5)

Wood

Cloth

Grain

Auto Spare Parts
Not attempted

Who is the first wrestler to win a Gold Medal in
Commonwealth Games in 1958 ?

(1)
(2)
(3)
(4)
(5)

Lila Ram Sangwan
Sajjan Singh
Pahalwan Udaychand
Master Chandgi Ram
Not attempted‘

Which breed of buffalo is calleq the
Haryana’ ?

(1)  Murrah
(2) Bhadwari
3 N iti-Ravi

(4)  Mehsana
(5)

‘Black Gold of

Not attempted

Which

Haryan
field of
(1)
(2)
3)
(4)

of the following personalities from 1
a received the Padma Shri in 2022 in the
Science and Engineering ?

Raghuvendra Tanwar
Sumit Antil

Om Prakash Gandhji
Moti Lal Madan

Not attempted

—_—
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72.

50]4%“{ us on ag;e;]%gﬁm - "IndiResult.
. » b, ab+bc+ca=0%

a2, b2, c2 %1 3itgq R .

1 om®

2 M

3) 3M?

4 eM*

(5) I T T 9w

Il V2 =141423%, @ V2 -1 FOH R

' J2 +1

(1) 0-3652

(2) 0732

(3) 13142

(4) 04142

(5) I A ¢ =TRd

73.

@mﬂ%maﬁﬁuﬁ,4tﬁ.wﬁm
4:3% U ¥ 3R 4 . TeH W 2: 1% IguE
B A & | FH b By Y fommd = F 2

(1) 187#. x 24 .
(2) 124 x 8.
(3) 16 x 12 4.
(4) 187t x 22 .
(5) I €I &A1 ATEd

74. uaﬁsofaaﬁawﬁquaﬂtmﬁﬁwwﬁzza%l

a fagw @ fopan ar (feret d) e sm @ faspor
#f gg ¥ gl %1 HIE 2 18 2

(1) 8

2 4 .

@ 5 #) WomresuLTe
4) 6

(5) IeR AL AT TR

MARA/D2/Page 15

jn n
71.

72.

73.

74.

. (5)

ey

If the average of a, b, c is M and ab + be + ca = 0
then the average of a2, b?, ¢? is

1) om? /'.

o 2 (NDIRESULTE
3)

(4)

3M>

6M>

Not attempted

=1 is equal to

If V2 = 1-4142, then V2
\/5 +1

(1)
(2)
3)
(4)
(5)

0-3652

0-732

1-3142

0-4142

Not attempted

The dimensions of a rectangular floor of a room
when increased by 4 metres become in the ratio
4 : 3 and when decreased by 4 metres become in

the ratio 2: 1. What are the dimensions of the
floor of the room ? '

18 m x 24 m
(2)
3
(4)
(5)

12mx8m

16 m x 12 m
18 m x 22 m
Not attempted

The ratio of milk to water in 80 litres of a
mixture is 7 : 3. The water (in litres) to be added
to it to make the ratio of milk to water 2 : 1 ig

(1 8

(2) 4

3 b5
(4) 6
(5) Not attempted

R
T %14 % fry ey | sPACE FOR ROUGH WORK
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to T 4,913 in 3 year

76. AU A 3 awl & ¢ : % Wiy ad wwafy s 6 @ - t 6 14 per annum compound  interegt
n
W, Faf sra-gded aiffs R, € 4,913 @3 awd R, compounded annually i8
(1) T 4,096 @) €309
(2) € 3,096 @) € 4,076
3) T 4,076 @) 4,085
(4) T 4,085 %) Not attempted
(5) I @ iﬂ‘l e 76. In covering a certain distance, the speeds of A
76. &l 20 N 7@ FQA gww Aaw BH 9l A 3: 4 and B are in the ratio 3 : 4. A.takgs 30 minutes
AR o wH W ey ¥ R B @ more than B to reach the destmatlion. The time
30 e afus & | A I Tasd WH W gdEd § @ taken by A to reach the destination 1s :
SEE 1) 2:;- hours
. 1 r
(12 2 w (2) 1hour /'_
‘« . t/
2 1% @ 1l (#moiResuLTe
: 1 o
@ 1 2 we (4) 2 hours
4) 2w (5) Not attempted
(5) IR € 2T 9TEA 77. The length of one side of a right-angled triangle

uF GEE B A T e ) e, qE e 6

is twice the length of the other side and the

77 i
- N ' length of hypotenuse is 10 cm. The area of the

m{ﬁ@:ﬁtmawfﬁmloﬁﬁ?lﬁﬁiﬂ triangle is :
g D 50 em?
(1) 50 & 9 90 e

( 20 cm*
(2) 20t & .

3) 83= cm?
3) 33% arf & 8
6 a0 @ - 4) 40 em?
&) 3 T 2 WA (5)  Not attempted

8. S < .

78. W% yanfn & fed) @un & @ WA W 3 ad & fa A \um was ‘mvested at simple interest at &
faaw fom | wf2 ww wAfo @), 3@ @& fe ?:; i rate for 3 years. Had it been invested &
1% wfuw awmw e € @ W faw fen @, @ u“. hlghw rate of simple interest for the samé

: ‘t‘l lt “'Oul o o Y e
o e 2 B100 PR — T "y d have fetched ¥ 5,100 more. Th
(1) 2 1,70,000 (1% 1.70,000
(2) ¥ 1,20,000 F’/ (2= 1,20,000
(3) T 1,256,000 \7¢)NDIRESULTH @) 2 1,25000
4) ¢ 1,50,000 ‘= 1,50,000
a‘r[a (6
(5) K i qﬂ 2:"/ ) N()t {lttempted -

T wrd % forg wuT / SPACE FOR Roygy ——
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3 IS T s g
By -xX)®HT A7 3 .

1) 2

(2)
3
(4)
(5)

E:ﬁﬁ@mmg

4%@3,6%@,8%@,
FAUA g9t § | 30 e § 3 . dfeaf ws @y

et ar soit 2
(1)
(2)
(3)
(4)
(5)

16
4

10

15

I AT &1 =TEd

1

—_—

8L af = 0-2689 ®, dl

0-2689
2689

2-689

26890

I 741 &1 =Ed

(1)
(2)
(3)
(4)
(5)

?T& m=—4 d41 n=-2

m3 —3m2 + 3m + 3n + 30

82,

_ 128
~120
(3) —124
4) -126
(5) wer A&t & AEd

MARA/D2/Page 17

(1)
(2)

@

Follow us on Telegram - "IndiResult.in”

x> y)® LCM, 1612 |

AR g A HHw: 2 YHE,
10 U g7 12 AHUE F

_ 1 Ham 2
00003718

&
2 4 n3 %1 HE B0 :

INDIRESULTE

YOUR SUCCESS PARTHNER

79.

80.

81.

82.

LCM of two prime numbers x and y(x >y)is 161.
The value of (3y — x) is :

(1) 2 .
] >
@ -2 ) moiesuLTg
@3 -1
4) 1
(5) Not attempted

Six bells commence tolling together and toll at
intervals of 2, 4, 6, 8, 10 and 12 seconds
respectively. In 30 minutes, how many times do
these six bells toll together ?

(D
(2)
(3)
(4)
(5)

16

4_

10

15

Not attempted
1 1

If —— = 0-2689, then the value of —————
3718 0-0003718

is:
(1
(2)
(3)
(4)
(5)

0-2689

2689

2-689

26890

Not attempted

If m=-4 and n =-2, then the value of

m3—3m2+3m+3n+3n2+n3 is :

(1) -128

(2 -120

3) -124 °

4) -126 -

(5) . Not attempted

<& @14 % f10 TuT  SpACE FOR ROUGH WORK
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83.

Follow us on Te]egram - "IndiResult.in”

@aﬁqﬁ@m@% | ¥ R 4 forex qu P
FIHH T 4 fre wH T fem | v @
a““wmwnmaﬁqﬁmaﬂrﬂm?

(1) 29-16 forex
26-34 fr
27-36%21

28 foret

I A 3

(2)
3)
(4)

()

A, BAY1 C 4 0% SR & %AY: = 80,000, T 40,000
@ % 80,000 Faw 6w | o5 7 ¥ w1 A wom o |
2 S T ¥ W2 Fol @™ 2 40,050 g2, A T
BT W b @ 2

(1) 9,000

(2) ¥ 8,000

(3) 8,900

(4) 5,000

(5) I TE & urEa

A, B @ 30% A% F99 8 | 391 ©h @y &0 F0
gq,m'maﬁ@mﬁﬁmmmﬁﬁ,m%A

83.

84.

85,

@)

A contal

per contains 40 litres of milk. Fron, "
£ .
tainer 4 litres of milk was takep out g

con .
replaced by 4 litres of water. This Proces
repeated further two times. How much milk

left in the container ?

(1) 29-16 litres

(2) 2634 litres

nnnnnnnnnnnnnnnnnn

(3) 27-36 litres

28 litres

(5) Not attempted

A, B and C invested ¥ 80,000, ¥ 40,000 ang
¥ 80,000 respectively in a business. A left after

six months. If total profit after eight months i
¥ 40,050, then what is the share of B in the
profit ?

(1) 9,000

2) 8,000

@) 8,900

4) = 5,000

(5)  Not attempted

Ais 309 more efficient than B. How much ti

w38 F1 #1 23 f7 8 Q0 9 e € 9 :1:1 th.ey, working together, take to co mpleie 3
105 which A alone could have done in 23 days*
(1) 15f@= O .
2 11fA . o |
, 11dga
) INDIRESULTE ys
@ 13fA @ .................. ® 1q,
ys
3
202 fea .
(4) 17 4) 20ﬁ .
1Ed
o i 1) Not attempted
mPage 18 T &1 %W

GH woRrk
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90. NG % wfaum w1 wgedn 395, 9 whvuw w sifm
I3 M R, Frifeian & A Rres s % i 4

91.

93.

AT R 2
@ mudimme  (F)INDIRESULTE
(2)

3)
4)

I Taaan rfufiy, 1947 %1 fags
AT Y IgEon
ArieRan Ty wiufEm, 2019

(5) I & 1

HALA S T Y R

(D mﬁﬁmﬂqﬁ%m@;mm
VYA &7 9

@ T st % fore frir i g

®) T 3% 0 s g s &
S¥verr iy

(@) O Y SEE T % R v b
ST GR =T 1§ 3 sjwen

(5) IW I e AR

TOR TR I TR A Wiy W forand

AT I FEd B A :

(1)  Hzu-sen

(2) georaA

(3) guerEITER

4) wfam-fasm

(5) I 7 <A ATEd

Tafa & g mEeE 9rd f AEHE w5 g
amu 2 53 gyra i d@faum aw & fafafaa 4 @
| e 3 e a1 2

(1)
(2)
(3)
(4)
(5)

#1.3. 9z
9,04, q7E
.40, wrEea
vA. A1, gEA
3w 771 271 A17d

nnnnnnnnnnnnnnnnnn

90.

91.

92.

93.

| illustrative of India’s in

—

MARA/D2/Page 20

T @14 & fery v | SPACE FoR ROUGH w
ORK

Indi Constituti g
Article 399 of the InA;afxl Ofst;utxon Whicy, ig
also the final (last) ticle o e COnStitu

tig
tates the provision related to which >
s

of the
following ? ‘

(1) Formation of New States

2) Repeal of the Indian Independepce Bt

1947

Proclamation of Emergency

3
4)
(6)

Citizenship Amendment Act, 2019
Not attempted

‘Matdata Junction’ refers to :
QD

name of a new railway station to raige Voter
awareness.
(2)

(3)

special polling booth for Divyang voters,

training programme for officials to hangle
postal ballot.

(4) radio series

produced by  Election
Commission of India for voter awareness.

(5) Not attempted

The study of writings engraved on hard surfaces

such as stone or metal is called

(1) Typography

(2)  Calligraphy

)  Epigraphy

(4) Iconography

(5)  Not attempted

‘A . .
tryst with destiny’, is a famous speed

dependence made bY
following members of the
mbly of India ?

Constituent Asse
(1)

(2)
(3)
(4)

(5) )
mpted

e

Follow us on Telegram - "IndiResult.in”
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9 ¥ PR & [94. Which of the following statements is/are correct
@) about compounds ?
a re : ",
a_&' mgﬁ %; 'ﬂw 3,3' m % | C:?/‘leD“RESULTE (a) It shows the properties of the constituent
(b T% U . substances.
T W wda v A R
© R ~ (b)  The composition of each new substance is
e . Has Tafas @ Aga-varfs always fixed. '
RIS IS ST & gy fvar 1 g 21 (c) The constituents can be separated only by
LI feu R TR T8 fawey 1 5w £fyu - chemical or electrochemical reactions.
1) Fa= (a) ' Choose the correct option from the codes given
below :
(2) () q™T (b) (1) Only (a)
3) (@) 9T (¢) (2) (a)and (b)
(4) (b)) FT (¢) (3) (a)and (c)
X (4)  (b) and (c)
(5) I FE 1 9TR
(5) Not attempted
95. fF=fafes 3 & FH P oA
‘ 3 ‘é. 4 HT@ & 95. Which of the following statements is/are correct
N unl & fawg § & B8R 2 about the properties of a Colloidal Solution ?
(a) wIASE T foawamt fyso 2 (a) A colloid is a heterogeneous mixture.
b) wE e B oW o R 9w R 9w e (b) The solute particles settle down when
. . . colloids are left undisturbed, hence, colloids
F1 T W Fad & A 'iEL PICTISS STEATl 71t & | are unstable.
(¢c) =IAsE 34 9% Bd & % g di fwm = (c) Colloids are big enough to scatter a beam of
TEO FAd  qYT 3Gk AT hl g¥F I B | light passing through it and make its path
\ visible.
9 feu ¢ O 4 |l faseq &1 w94 Hife
e f?w TR H =& Choose the correct option from the codes given
(1) =hdd (a) below :
(2) (a)agl(b) (1)  Only (a)
(3)  (a) @ (c) (2) (a)and (b)
3
(4) (b)AH (c) (3) (a)and (c)
off 3T . (4) (b)and (c)

5, AT 971 241 91Ed

@) (6)  Not attempted
96. 63 e foem g H . 6. Which fil the ‘Best Fil -

o o, el ad wdas feen difvg fan 96. - WO‘} g i T80 Y m an Social Issues’
s > Award in the 68™ National Film Awards under
™™ ? . the feature films category ?

(1) 4rzgd (773) (a<7]) 6/://' INDIRESULTE (1) Natyam (Dance) (Telugu)
(2) Heal (afga) ’u EEEEITTTT (2) Mandela (Tamil)
3) = (Fd) (3) 'l*‘unvrul(Muruthi) |
“ E\ ) (W « AeF) (F9E) (4)  Taledanda (Beheading a Life) (Kannada)
= - (65)  Not attempted
(5) IR AET 21 HEd
v %14 & foro wora | sSPACE FOR ROUGH WORK
MARA/D2/Page 21
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07,
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SR dgner, v srauron fay e ACEA

1945 0 fawfirn fovan w1, sirfden faem aur
& daul &) syren s & | .
witmfon g () INDIRESULTE
T 319y Y
S AT ey o
wEmTd A e 6 el
IR A QN e

N
(2)
3)
(4)
)

H JA {E H A0 ) i gfonn w1 gay frad @ 2
B

T
fra

HeA!
I & ¢ TR

1
(2)
3)
4)

5

SR ¥ vor 8 § frfufad § @ HA-a @
it gHfsa § 2

ATMIETEA I

it 3Tm

g 3R 3T I

3T A

I FE <A1 =rEd

(1)
(2)
(3)
(4)

(5)

e Frafafigs 4 @ fFa el &1 aiom

N

q|97.

98.

99.

A

Pransivion , < == VA
describeg N

in 19457

graphic
ic developmen, %

N otestein
ghip between econom

‘Demo
frank
relation
I
Carwgraphic bo
Social crime rate

B

(1)

undaries

Zj Death and Birth rate |

(4) Loss of lives in epidemics

(5) Not attempted

Nataraja i8 2 bronze sculpture in a dancmg
position associated with

(1) Nandi

(2) Krishna

(3) Shiva

(4) Kali

(5) Not attempted

Which of the following industries has the
maximum concentration in the Chhotanagpur

Plateau region ?
(D
(2)
(3)
(4)
(5)

Automobile Industry
Sugar Industry

Iron and Steel Industry
Fertilizer Industry

Not attempted

FZ7 arn S R 2 100. Which among the following will no# be ordinarily
(1) @79 ENR Ty considered an outcome of globalization ?
T A (1) Multi]
(2) m??mﬁ‘f" P o ateral trade agreements
. ) OUtsourcing
(3) o HIM 3)  Tap
>t 3T ariff barriers
(1) weaw fagef Ha? 4)  Forei .
R oreign Direct Investment
(5) mﬂ’fa'i: ' (%) _Not attempteq
MARA/D2/Page 22 T & forg wurr  SPACE FOR ROUGH work st

Follow us on Telegram - "IndiResult.in"




{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }



